
KÜ
BL

ER
 S

PO
RT

 G
M

BH
 | 

SE
RV

IC
E

KÜBLER SPORT GMBH | SERVICE

ASSEMBLY AND OPERATION INSTRUCTION | B1648

Seite  1 von 5Kübler Sport · Karl-Ferdinand-Braun-Straße 3 · D-71522 Backnang · www.kuebler-sport.de

Strona 1 / 5 
 

 

 
   

 
INTERPLASTIC ROGER ŻÓŁTOWSKI 
TUCHOM 146, 80-209 CHWASZCZYNO POLSKA 
TEL.  + 48 58 511 29 60  ·  FAX. + 48 58 511 29 80 
WWW.INTERPLASTIC.PL  ·  INFO@INTERPLASTIC.PL 
NIP: 586 000 90 32  ·  REGON: 002854249 
BRE BANK S.A.  O/GDYNIA 
86 1140 1153 0000 3570 5900 1001  

PRODUCENT I DYSTRYBUTOR SPRZĘTU SPORTOWEGO 
WYPOSAŻANIE OBIEKTÓW SPORTOWYCH 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

INSTRUCTION 

FOR INSTALLATION AND USE 

TWO - POST OUTDOOR BASKETBALL, 
REACHES 1,65 m 

Accordance with norm PN-EN 1270 



KÜ
BL

ER
 S

PO
RT

 G
M

BH
 | 

SE
RV

IC
E

KÜBLER SPORT GMBH | SERVICE

ASSEMBLY AND OPERATION INSTRUCTION | B1648

Seite  2 von 5Kübler Sport · Karl-Ferdinand-Braun-Straße 3 · D-71522 Backnang · www.kuebler-sport.de

Strona 2 / 5 
 

 

 
   

 
INTERPLASTIC ROGER ŻÓŁTOWSKI 
TUCHOM 146, 80-209 CHWASZCZYNO POLSKA 
TEL.  + 48 58 511 29 60  ·  FAX. + 48 58 511 29 80 
WWW.INTERPLASTIC.PL  ·  INFO@INTERPLASTIC.PL 
NIP: 586 000 90 32  ·  REGON: 002854249 
BRE BANK S.A.  O/GDYNIA 
86 1140 1153 0000 3570 5900 1001  

PRODUCENT I DYSTRYBUTOR SPRZĘTU SPORTOWEGO 
WYPOSAŻANIE OBIEKTÓW SPORTOWYCH 

 

I. List of componets 
 

No. Nr on  
drawing Name of Part  Qty (pcs ) 

 20 Rectangular cover 100x100 mm 2 
1. 19 M12 nut  4 
2. 18 M12x65 bolt 4 
3. 17 M16 elastic pad 8 
4. 16 M16 nut 8 
5. 15 M16x140 bolt  8 
6a. 14 M12x45 bolt (for fixed ring) 2 
6b. 14 M10x40 bolt (for foldable ring ) 2 
7. 13 Round pad 13 mm (M12) 8 
8. 12 Self-locking nut M12 4 
9a. 11 M12x80 bolt (for fixe ring) 2 
9b. 11 M10x75 (for foldable ring) 2 
10. 10 M10 nut  4 
11. 9 Round pad 10,5 mm 4 
12. 8 M10x25 bolt  4 
13. 6 Epoxy backboard 105x180cm (available on metal Frame) 1 
14. 5 Section cross  1 
15. 4 Horizontal pole  2 
16. 3 Boom plate  2 
17. 2 Verticla pole  2 
18. 7 Fixed or foldable ring  1 

 
 
II. Product overview 
 
Two-post outdoor basketball set; hot-dip galvanized ; the height of the basketball post can be adjusted between 260-
305 cm; total reaches 1,65 m; professional, epoxy basketball backboard, size 105x180 cmon metal frame. Safety 
certificate B.  
 
III. Purpose  

 
Set is intended solely for outdoor fields and playgrounds . Protected against corrosion with hot-dip galvanized. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



KÜ
BL

ER
 S

PO
RT

 G
M

BH
 | 

SE
RV

IC
E

KÜBLER SPORT GMBH | SERVICE

ASSEMBLY AND OPERATION INSTRUCTION | B1648

Seite  3 von 5Kübler Sport · Karl-Ferdinand-Braun-Straße 3 · D-71522 Backnang · www.kuebler-sport.de

Strona 3 / 5 
 

 

 
   

 
INTERPLASTIC ROGER ŻÓŁTOWSKI 
TUCHOM 146, 80-209 CHWASZCZYNO POLSKA 
TEL.  + 48 58 511 29 60  ·  FAX. + 48 58 511 29 80 
WWW.INTERPLASTIC.PL  ·  INFO@INTERPLASTIC.PL 
NIP: 586 000 90 32  ·  REGON: 002854249 
BRE BANK S.A.  O/GDYNIA 
86 1140 1153 0000 3570 5900 1001  

PRODUCENT I DYSTRYBUTOR SPRZĘTU SPORTOWEGO 
WYPOSAŻANIE OBIEKTÓW SPORTOWYCH 

 

IV. Assebly  
 

 
 

 
Rys. nr 1 

 
 
 

 
Rys. nr 2 

 
 
 
 
 

 
 
 



KÜ
BL

ER
 S

PO
RT

 G
M

BH
 | 

SE
RV

IC
E

KÜBLER SPORT GMBH | SERVICE

ASSEMBLY AND OPERATION INSTRUCTION | B1648

Seite  4 von 5Kübler Sport · Karl-Ferdinand-Braun-Straße 3 · D-71522 Backnang · www.kuebler-sport.de

Strona 4 / 5 
 

 

 
   

 
INTERPLASTIC ROGER ŻÓŁTOWSKI 
TUCHOM 146, 80-209 CHWASZCZYNO POLSKA 
TEL.  + 48 58 511 29 60  ·  FAX. + 48 58 511 29 80 
WWW.INTERPLASTIC.PL  ·  INFO@INTERPLASTIC.PL 
NIP: 586 000 90 32  ·  REGON: 002854249 
BRE BANK S.A.  O/GDYNIA 
86 1140 1153 0000 3570 5900 1001  

PRODUCENT I DYSTRYBUTOR SPRZĘTU SPORTOWEGO 
WYPOSAŻANIE OBIEKTÓW SPORTOWYCH 

 

1. Set installation : 
a) Embed vertical posts  [2] in socket  
b) With bolt M16x140 [15], plates M16 [16] and nuts M16 [16] and rectangular plate [3] screw on projection 

posts  [4] to the vertical posts[2] 
 

  

 
c) To the horizontal posts  [4] screw on with bolt M12x65 [18], plates Ø13 mm [13] and nut  M12 [19] 

section cross [5] (drawing 3 i 4) 
 

 
 

 
 

d) With bolt  M10x25 [8], plate Ø10,5 mm [9] and nut M10 [10] screw on epoxy basketball backboard.  
 

 

 

 
 
 



KÜ
BL

ER
 S

PO
RT

 G
M

BH
 | 

SE
RV

IC
E

KÜBLER SPORT GMBH | SERVICE

ASSEMBLY AND OPERATION INSTRUCTION | B1648

Seite  5 von 5Kübler Sport · Karl-Ferdinand-Braun-Straße 3 · D-71522 Backnang · www.kuebler-sport.de

Strona 5 / 5 
 

 

 
   

 
INTERPLASTIC ROGER ŻÓŁTOWSKI 
TUCHOM 146, 80-209 CHWASZCZYNO POLSKA 
TEL.  + 48 58 511 29 60  ·  FAX. + 48 58 511 29 80 
WWW.INTERPLASTIC.PL  ·  INFO@INTERPLASTIC.PL 
NIP: 586 000 90 32  ·  REGON: 002854249 
BRE BANK S.A.  O/GDYNIA 
86 1140 1153 0000 3570 5900 1001  

PRODUCENT I DYSTRYBUTOR SPRZĘTU SPORTOWEGO 
WYPOSAŻANIE OBIEKTÓW SPORTOWYCH 

 

 
 

e) To the backboard  [6] screw on ring : 
 To the fixed ring use bolts:  

- M12x45 [14] – in the upper holes  
- M12x80 [11] – in the bottom holes  
And plater  Ø13 mm [13] Wit nuts  M12 [12]  

 

 
 To the folding ring use bolts : 

- M10x40 [14] – to the upper holes  
- M10x75 [11] – to the bottom holes  

 
 

a) To the fixed ring use: bolt M12x60 and self-locking nut M12 
b) To the folding ring use: bolt M10x60 with plates, use for the bottom part of the backboard. 

 
V. Use  

1. Construction is intended solely to play basketball . Prohibited is to use any another load, climbing to the 
construction et cetera. 

2. Before use, and later during the operation of basketball all mounting knots must be checked and tightened 
periodically. 

 
VI. Guarantee  

1. Basketball and mounting elements  are covered by a 24-month guarantee. Nets for ring are covered by a 12-
month guarantee. 

2. The guarantee does not cover damage caused by improper use, for example, mechanical damage of the 
basketball or assembly elements, cutting or setting fire to the goal, assembly not conform to the 
manufacturer's recommendations.  
 

 
 
 


